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RZEE=F
mA—H 30,032 37,634 23,282 71,370 27,024 (134,455) - 54,887
BIR M 6,000 300 - - - - - 6,300
B3 = = - (56,980) 56,980 - - -
BB = - - 5,702 15,280 - - 20,982
HERENME - - - - (41,567) 30,430 - (11,137)
DABREAXER
ZWER BB T8 = = = 5702 (26,287) 30,430 - 9,845
FERNEBFE - = - = - (11,039) - (11,039)
R-_ZEZME
ZA=+-RAK
“EEMEMA—-H 36,032 37,934 23,282 20,092 57,717 (115,064) - 59,993
B A% = - - 16,926 18,807 - - 35,733
HERENE - - - - (75261) 56,981 - (18,280)
HERETHRET = = - (37,018) - 37,018 - -
CABRERARER
ZWEREEFHE = = - (20,092)  (56,454) 93,999 - 17,453
ERGFFE = = = = - 29,301 - 29,301
RE-ZSTHE
RERE = = = = - (3,603) 3,603 -
R-ZZZRF
=B=t+-8 36,032  37,934*  23,282* —*%  1,263* 4,633* 3,603 106,747
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AR RKB A 36,032 37,934 23,282 - 1,263 4,156 3,603 106,270
HREEH % = = - - - 313 - 313
/NS = = - - — 164 - 164

R-ZEERF
=A=t+-8 36,032 37,934 23,282 - 1,263 4,633 3,603 106,747
AR RKBAF 36,032 37,934 23,282 20,092 57,717 (115,074) - 59,983
HEEH 4% - = = = ~ 10 - 10

R-ZBEMF
=A=+-H 36,032 37,934 23,282 20,092 57,717 (115,064) - 59,993






